FIEEDAL TA—RN—TIFTVY
O #R 10km B F (40X DER) F5 R

NEf | B 2r K4 v X F—Ah% L1 =
1 8538 |72k 1 =] YA oy ii] =] 5 [ 3 33:23
2 8502| IR IA Yvr4tu iR F— DA A 35:39
3 8576|NI F Y h <7 R 35:59
4 8535|FH F F TAN 7" iR 36:07
5| 8503[FrEFiL Ay )y AR Witke koo 36:19
6 8567 | & {HE HAIY toak iR 37:06
7 8507|E /T 14 Fau7 Vay R 75/ BRC 38:27
8 8514|fAIFFEZR < e n AR 38:29
9] 8509 =ftE i Iyn4ftn BB 38:59

10| 8560[#fH #H] Yag 7y SR <Hrol 39:00
11 8543 | KAT f— FAHr VA AR HZEAT B S ERT 39:02
12 8586 | E- 1} 1= A TH ) AT iR LRAR: 39:11
13|  8529| i &= AN'T <ap iR F— DA AKX 39:18
14 8513| B = AN TMEE B R 39:30
15[  8505|JiA WsiB 7F% Wb R 2 i g i 39:45
16 8511| G —hk AHINYARTY iR 40:06
17]  8579|&IL Fz A< YAba AR HEEAT B B ERT 40:28
18] 8508|#k G =yvat) ¥4y iR E)IIAC 40:39
19 8523 | ZZ &M% TV Ry AR SEHEAIE 40:58
20| 8540|FEA WA =Bz <ih i TeamB 41:09
21 8519 (A A K — YVEMIAT R Team Free 41:13
22 8547 | AR Fk FYUF vah EAR 41:41
23| 8549w M fir TIH <EN fi] | L1 1 K RS B 42:12
24|  8566[LEA 2 IRIT A EitR 42:18
25 8534 |r& | LIFnTE WX nR T AR 43:03
26|  8573[/NpH BHEER a=y AFay AR = v 43:16
27| 8571|H % 3k t) <ap AR F— AP 43:36
28|  8539|5ER B BN <)) iR TSKIH#H Y Z 43:57
29 8589 | Bl =i HIN BHT % AR LEXARC 43:59
30 8578| KB HE R NYNET BB 44:13
31| 8501w s~ =h7 Y I i 22 % v FH T e 44:19
32 8504 |/Nbk B TR an'yy oy R DINILT X 44:30
33 8557|1115 il AR PRy TR 44:38
34 8506| HLA 1E. 2 AIEN v HaF iR 75/ BRC 44:49
35 8553 | 7K A M As THY TIvF AR 44:50
36 85251 N IEZ BryF<iea iR DA TNTAIRAITT 45:11
37 853274 H Fi=E AVH DA 2% R 45:19
38 8593|[EEH IEA J=hy <yl AR 45:21
39| 8541|tEH B X TIR FAT3 N 45:31
40| 8530[JIIA Hid HTES ¥R iR 45:38
41 8569 | H & ATH <A AR Ja— %\ 45:46
42| 852114 B T hykoy AR 45:54
43| 8582|FA sk NVE by AR < NE g 46:11
44 8574 (kA tHIA <V ke iy 46:39
45| 8580[H:A AEN 2TV S5 HL ~phrZ 46:53
46|  8517[4)I—HE AV ATAFEY iR TR —TeH<H 250K 46:57
47 8515 | KEF i #a A4 )8 0en AR 47:02
48|  8575|H  HIEE WVENIIN iR ez 757 47:16
49 8552| IR K- Yt Jay~A AR o P MRk [ oL 47:25
50|  8520[fAAfIS <VEMVY AR 47:49
51 8524 HEH i By R TAA TN T4 NFRATTT 48:07
52 8594 | /Mt 7 A 57 Vay AR 48:10
53 8536117 = IHTEAYY AR 48:49
54 8588| ki 0% <F7 R 48:50

1/2




FIEEDAL TA—RN—TIFTVY
O #R 10km B F (40X DER) F5 R

NEf | B 2r K4 v X F—Ah% L1 =
55 8559| =i 872 97 fvkn =& 48:54
56|  8562[fH[ 24 TAY~ A3 iR HINREHE 49:13
57 8558 | H4 H & TRE 2Hh AT 49:35
58|  8548| K#E EME TAny <%)7" | Bk AITIE L F 50:32
59| 8528 FnHE A VA IFH AR B AN 50:42
60 8577|JF VL NT Va2 iR 50:44
61 8563 | A FEE 7V N YAV AR 50:57
62 8584 |/ 5L AU7'F Hjkn iR NIPPO 51:32
63| 8516 AT A7 R 304 V=7 52:07
64 8590 | AT 72 *47 toy iR 52:16
65|  8565(m R iF BA Y 2y SR 53:04
66 8561 |k —U% 7Y°NT HA R B AR ERE T 53:19
67 8570 A Fetd AT4= Bhkn AR 53:31
68 8568| AT HHE ¥47 2y iR 53:41
69 8526’54 # AVH= <3 AR 53:42
70 8518 KJE = 2Ll MV i HEEKEL S 53:56
71 8531|#ifk FNZE =VRFY) J=vA o | ER 54:38
72 8592| B3I 3L N by iR 55:02
73 8512 [IAAFn <VEMAY AR 55:06
74| 8546|%/ATN BEIE By A BitR EBEE 18 55:24
75 8555 J5 7E— ] NT A {Fay AR 55:58
76 8587| AL [E A ahty Tk R 7L 56:01
77 8510|ZcH & YA )RV AR 56:16
78| 8527|H R — v/ EVEE iR 57:14
79 8550/ #iAH ahe JUT¥ AR o P MRk [ oL 59:37
80 8591 | B WANIES iR 59:58
81 8554| = k& Tai— Iy ek AR 1:00:03
82|  8595|JEE B AN Bhen R 1:01:05
83|  8585|MH L ffE— B4 AT R 1:02:20
84|  8533|iTf ME— TAI 2y iR A EVE B g 1:02:20
85|  8537|RIF FE A% 3y )7 AR 1:02:24

2/2




